5.6 Day 1 HW

Friday, October 31, 2014 10:19 AM

p. 448:1,3,6,9, 35, 38

Dp=19.22 @ p=ar05° @& b=2152 @Dno A (@D130.424t (398412044
c=1¥-21° Csm,¢£4f" O:ZI'%:?
A =20.69° A=T6.81° A =123.24°

soufions.

B SAS > Law of CoSines

0
b =0% +c? - 2accosB Sanc _ ¢inl3l A= l?O—CI%'*Ig'g")
A ? b?> =132 + 8% -2(13)X§)cos|3] 3 11.22 A= 30.671°
223200 4C Synwe =L 3)
b= 171.22 c =1%.31°
c

3
/7.22
A
@ SSS =2 Law of wosines
’)/A/ bZ=2gq2%2 +c2 -2ac cwsB ﬂ;m /’f‘-‘—lgO“(BﬁfH""‘l'g.26)
1 |92 =27% + 242 -2(27X24) CoSB 24 19 =Te.81°
27
12}
25

21> 1305 - 12716005 B Snc = .97
B c “A44 = -129 s B ¢ = &.214°
-12= c05B
43.25°=
@ ja SASLaw et wsines!
q
f b2=g2> +C%-2ac cosB SINC _ 5'n35  A=180-(35+2Ll.&66)
c b2 =432+ (a2 -2043Y 1) c0S 35 11 29.52  A=123.3.°
A 21-0% b>=g71.5] gihe= .37
b= 21.52 c =2].66"

@ SAS = Law ot WSINeS
¥ A% =pT+c? —2bc oosh
I*= 52+ 42 - 2(5X4) cosh
- 40 = —4ocosA

| = c0shA .
0= A => no ‘\"V\nwsuc

®
|
o

A 5

7 B SAS=s Law ot (osines
C*=a? +b?* -2abwwsC
cZ= l60% +1102 - 2(|¢oX1l0)co S54-

1o 10 c?z = |7009. 9

c=130.42+t

P
@ rdl CZ=n* +b* - 200 05C

— N~ N —_—

5.6 Page 1



Ko

5.6 Page 2

s

1%
c

C%=% +b? — Qb rosC

6= 1752 +8b02z - 2(1715XE0)cos 78
c?*=7T707¢43.5%

c=84).22FfC



